z
2
3
c
S
0O
>
c
[}
=8

‘ FSC mesmz=n+

S,

o

iR

HENMEEMARE=MBE 0 RE

(FITEEER)

FERA

TSN 3R AR

WFLREE  @34~@F100
FFEE - @3~ @300

oy

3

$A
éC
J$E
%’

X

PR
FSC-130(5") FSC-165(6") FSC-190(7") FSC-230(9") FSC-273(10") FSC-310(12")
130 167 192 232 273 310
60 65 75 84 86 9%
100 130 155 190 230 260
115 147 172 210 250 285
34 45 57 75 89 100
45 5 5 6 6 7
3-M8 3-M10 3-M10 3-M12 3-M12 3-M12
50 65 75 87 98 110
16 19 2 24 28 30
196 2507 30,06 35.04 40.02 4508
8 10 1 12 12 14
25 24 275 295 315 315
37 41 475 545 545 64.5
16 20 20 25 25 25
3-M8x65 3-M10x70 3-M10x85 3-M12x95 3-M12x95 3-M12x110
14 16 17 24 20 27
FSC-130(5") FSC-165(6") FSC-190(7") FSC-230(9") FSC-273(10") FSC-310(12")
15(1530) 313161) 313161) 37(3773) 46(4691) 55(5608)
3~110 3~160 4~180 5~220 5~260 10~300
3~100 48~150 56~170 62~210 70~250 86~290
63.7(6.5) 88.3(9.0) 107.9(11.0) 147(15.0) 176.5(18.0) 206(21.0)
2500 4000 3500 2900 2500 2200
44 114 12 212 28 4
0.35(0.036) 1.18(0.12) 2.35(0.24) 6.27(0.64) 9.90(1.01) 23.0(2.35)

X RIFRIRARRUSSEN o
¥ R SMERI e B EMERMFEE,



